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Part I / 4T 1
Aptitude Test / fusfa aiteror

Which is best used as a sound absorbing
material in partition walls ?

(1) Glass-wool

(2) Glass pieces
(3) Stone chips
(4) Steel

Interior of any room will appear larger
when painted with which colour ?

(1) Blue colour
(2) Black colour
(3) White colour

(4) Grey colour

Which one of the following is not an
architect ?

(1) B.V. Doshi
(2) Zakir Hussain
(3) Hafiz Contractor
(4) Raj Rewal

Howrah Bridge is :

(1) Resting on concrete pillars
(2) Cable hung structure

(3) Resting on brick aréhes

(4) A steel structure

1

T Tere eafa-sreeiaer & fau, faveE
Srarl § Terd ST GAN § o S © ?

(1) wE H T (Glass-wool)
(2) W F THS

(3) TR % THe

@ ==

fordt I &1 AR F HF T T HA G, I
w1 fewm < e € 2

) e T

2) el T
) WS
) @A

T W FIF G AHR TE € 2

(1) s e

(2) TR A
(3) @IS HigaRT
(4) TS @

RESEIR G
(1) FHie F wofl w fewm
2) T F TS W ARH AT
(3) de ot =l o foe g
4) TH A F A
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5. The famous work of Leonardo Da Vinci | 5. feramret o1 fadt =) yfag +m

is :

(1)  Elizabeth (1) ufesey
(2) Mona Lisa (2) = famn
(38) The King (3) Tsm

(4) Cleopatra (4) fommma

6.  Which person is famous for the extensive | 6. %a H 3¢ %@ H fafaudr | & & =ren

brickwork in Kerala ? #1991 Afad wfag § ?
(1) Hafeez Contractor (1) RIS FHigR
(2) Charles Correa (2) =" HifE
(3) Achyut Kanvinde (3) T=d HHfR
(4) Laurie Baker (4) G IH
7.  Nalanda is : 7. AL T
(1) A Temple @ (1) =T
(2)  Ancient center of higher learning (2) QUG 3= eATH K g ©
(3) A Fort in Bihar 3) foewr# fen ®
(4)  An ancient town in Sri Lanka (4) i H TUAH TR T

8. Which one of the following is a sound | 8. T g HF-91 i gftafad e g2
reflecting material ?

(1) Wood (1) <&l

(2) Mirror (2) e

(3)  Cotton Cloth (3) Hdl wUE

(4)  Woolen cloth (4) FA HUS
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9.  Eiffel Tower is located in : 9. Tfthe e Fal feud 7 2
(1) Australia (1) siefern
(2) Paris ) fw
(3) Beijing (3) @S
(4) London (4) weA
10. Shahjahanabad is a part of which one of | 10. ITESRMETg fFr=fafea wed # 9 fhaew T
the following cities ? feame?
(1) Delhi (1) feeedt
(2) Aurangabad (2) imETg
(3) Allahabad (3) ERER
(4) Lucknow (4) <ETH
11. The temple of Angkorvat is in : 11. S{THRER :
(1) Vietnam (1) foaamH g
(2) Myanmar (2) TFERH T
(3) Cambodia () wEifeaH T
(4) Laos (4) mEHT
12. Aswan dam is situated on which river : | 12. T9aM sty forg 7 W feera 72
(1)  Nile River (1) e €
(2) Rhine River (2) T &t
(3) Irrawaddy River (3) TEE &l
(4) Amazon River (4) oS TS
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Buland Darwaza is located in : 13. Scig ST el W e 2
(1) Red Fort (1) o foha °

(2)  Agra Fort (2) & fohet §

(3) Golconda () TEHeH

(4) Fatehpur Sikri (4) WhdeqX Hiwd |

There are maximum forests in which State | 14. YR § o 31fys a7 fFa e d &2
of India :

(1) Karnataka (1) =Rt

(2) Madhya Pradesh (2) A YW
(3) Himachal Pradesh 3) Teurem v
| (4) Uttar Pradesh (4) WY

Which one of the following is an | 15. ﬁﬂlﬁﬁﬁﬁﬁ@iﬁqm%ﬂﬁww

Earthquake resistant structure ? €2

(I) RCC framed (1) SIRELH. HH

(2) Load bearing brick walled (2) ¥R U aTell 32 H SEn

(3) Random stone masonary (3) 3EHA-U Tk H TRl fa?ré
(4) Mud walls (4) T2 T A o fer
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Directions : (For Q. 16 to 22).

T : (W 16 @22 & fom )1

Problem Figure / H37 ST1HTd

A |

17. C'

M ¢

18.

X
1

® =
) )

Which one of the answer figures is the correct mirror image of the
problem figure with respect to X-X ?

IR TFfad § G HiT-T SFT & T FIT HlT F X-X T
Tt get g gldfa &2

Answer Figures / 3T 377?77%277

2 2 4 4

(4)

N Ny N N N i
D |
(1) 2 @) 4) |
g é /
1) (2) 3) “)

©) (4)
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Problem Figure / F¥7 3Tid Answer Figures / 3t¥ 377?7'/%/277'

X
B R
%
X M ) ®) @
X
@ - (1) ) 3) (4)
X

22.
@ X 1) 2) 3) 4

Directions : (For Q. 23 to 26). The 3-D problem figure shows the view of an object. Identify the
correct top view from amongst the answer figures.

FEor: (W23 @26 & form)1  3-D 997 7l & U ag & U g99 &1 [e@rar T 81 397 Tal
ST g9, 3T Hlad F & ggan4 | .

Problem Figure /| ¥97 37Ihld Answer Figures / 3t BW

&O@u ] E

1) (2) ®) (4)

] | | | [
@4. /@ |
| (1) (2) (3) 4)
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Problem Figure | F¥7 377'5)'7‘57 Answer Figures / 3t 3ﬂ§’7/:€l'¢77v

I X

25. '

® 1r X - ®r
1) 2) ®) (4)

[ B -

26. B
@ | H i 10

(1) (2) ®) (4)

Directions : (For Q. 27 and 28).  Identify the correct 3-D figure from amongst the answer figures,
which has the same elevation, as given in the problem figure on the
left, looking in the direction of the arrow.

o : (W27 3028 & fT) 1 3-D S 30 adl & @ 39 %l %1 v« s &1, aik &1 o 4
TG §vF J¥T SFid 1o &

Problem Figure / Answer Figures | 3 3775‘7/%/?—7?'
gvT 3l

= BT = (= [

A1
1 2 3) (4)
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Directions : (For Q. 29 to 31). The 3-D figure shows the view of an object. Identify the correct
front view from amongst the answer figures, in the direction of the

arrow.
G (W29 @31 F W)l 3-D F97 T 7 TF a%g & U G99 F [G@rE T &1 AR # R0
4 3@ U 39% GHE 59 &I I SHIa 7 4 g |
Problem Figure / 97 37&ld Answer Figures / ST STHlTal

N |

2% ] L“L E’ ‘_\_l_
& >
M ) @) @
- ) @ ) @

Directions : (For Q. 32 to 35).  Find the total number of surfaces of the object given below in the
problem figure.

FG9T: (.32 @35 & for@ )1 97 3t 9 [=aiferd 9% | el #i el G&al F1d Fiior |
Problem Figure / ¥97 S71hid v

@) 22 3) 21 (4) 24
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Directions : (For Q. 36 to 40).

fAE9r : (W36 T40 & forw ) |
Problem Figure / F97 37Ishid

9 @) 11
16 (3) 18
16 3) 18

Which one of the answer figures shows the correct view of the 3-D

4) 5

17

4) 17

problem figure after the problem figure is opened up ?

3-D 97 3T H @ W, 3T Ha F 8 qal g9 B G E 2

Answer Figures / 3¢ 377?7%?77

[ 1

[ 1]

-

[ []

[l 1]

e e

S

5 s

L

LI

(1)

—~~
N
-

L]

—
*3)
N

L]

~~
>
~—
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Problem Figure / H¥7 3Ihld

=

Answer Figures / 3% 3'77?7%/?77‘

] E .
e e

— — 1

1) 2) ®)

e 2llg

L1

—_
N
~—

[ J[]]

| 111

= [[]]

1111

5

I
L 11 1]

—~~
(o)
N
—~
N
N

1]

e

@ [

1]

L]

1] ]

—_

[
~
—~

2)

L]

)

AL

[

Rt

1IN

=
N

L]

o

LU

s
N

[ 111

1111

(

—_~
s
~

[

or

LT

B
SN
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Directions : (For Q. 41 to 43). The problem figure shows the top view of objects. Looking in the

direction of the arrow, identify the correct elevation, from amongst
the answer figures.

Ao (w41 @3 &F W) 597 apla & awgsil &1 W1 §v fa@rar 71 &1 @R ®1 e 9 da
g ST SFEl § G TE @ 59T UEAd |

Problem Figure / Answer Figures / 3T st

T ST
o O
él' OQQ Hjﬁ D 7% ﬂﬂ% Dﬂlﬁ
A (1) 3] ®) 4)

L I S v R e L
1) 2) ©) )

@

i
o D70 el Falh Aah A
1 1) @) ®) (4)
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Directions : (For Q. 44 to 46). One of the following answer figures is hidden in the problem figure

in the same size and direction. Select the correct one.

FEor: (W44 Qa6 Ffow)1 19 &7 79 ST snFfadl § @ U 35 fa 779 39 foon 5 9897 &9 @
gv7 pla 7 g9 &1 @7 & @el & gw

Problem Figure /| ¥97 37I&hfd Answer Figures / 3T 377?/?"/?77'

@ (1) 2 (3) (4)

< B 0 N 9w
(1) ) - (3) (4)
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Directions : (For Q. 47 to 50). Which one of the answer figure will complete the sequence of the

three problem figures ?

fFEor: (W47 @50 & fo@ )1 3R sT@ladl & @ Hi7-91 siigfd & a7 397 Hiadl 4 & 9
3T7hH (sequence) TSI ?

Problem Figures | ¥ STgHfaar Answer Figures / 3T STl
47. ?
) v e 6
3 G2 & 0
@ 1) 2 ©) (4)

-RPBE: BOLSLD
@ @ ®) @)

Q= h v <? £ £ Y p

1) (2) ) )
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Part IT / ¥ 1T
Mathematics / 0T

51. Let PQ be a focal chord of the parabola | 51. H|MI PQ Waeld y?=4x &t U Y SrE g

y?>=4x. If the centre of a circle having PQ e PQ AW A Fd Hl hg @l
as its diameter lies on the line 5y +4=0 R feera &, @ Siran PQ i &g
J5y + 4 =0, then the length of the chord ?:
i PQ is:
l
|
T y 2
| W = n 3
3675 365
2 ——— b
@ = & =
265 265
3y — 3 =
6 = B —
gy 22 5
@ @

52, If J-_dx—,=f(x)(1-;-x‘6)%+c, 52, afg J¢——Jf(x)(1+x'6)%+C

x‘q'(1+x6)’2/3 x3(1+xé)%’—
where C is a constant of integration, then &, STl C Tmeher TR §, al f(x) TR T
f(x) is equal to :
[ =¢
i~ ".Z’(;
-a ) L
& 6 b = 4t @ 6
| R
@ — =L ("% @ -2
' S U3
Vi
@ -3 30 £ ® -3
S
1 L
@ -3 @ -5
T/Page 15 SPACE FOR ROUGH WORK / % @14 & fau sme
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53. Th f the seri 53, AMS=— o+t + L 4 jowinE
s e sum of the series , AT R R
o1 1
S=-—4 e - .
191 31071 " 55! to 10 terms is HTAM S, TR T
equal to :
220 220
1 — i i
@ 20! @ 20!
210 210
2] = N e
@ 20! @ 20!
2]9 219
3] = 3y =
G) 19! G) 19!
. 219 . 219
@) o5 @ S
2 xy
54. The solution of the differential equation | 54. 3% d HHiH T Yas 3 30y x =
2 ydx — xdy y4
ydx + xdy _ x~ eV .
ydx — xdy S~ H1 y(0)=1 I TI= HIA g A
satisfying y(0) =1, is :
@+ =3y’(1- ) ) = =3y’(1-¢)
) x> =3y3(—1+exy) ) x3 =3y3(—1+exy)
@) x> =3y° (1 exy) 3) x> =343 (1 - exy)
(4) 2= 3]/3 (-—1 + e_xy) (4) x® = 3y3 (—1 + e—xy)
55. If the system of linear equations : 55. Afs aw g e
¢ 2 7 | x+3y+7z=0 ® x+3y+7z=0
-1 4 7 Z¢ —x+4y+7z=0 —x+4y+7z=0
Sve (236 Z (sin38)x + (cos28)y +2z=0 (sin38)x + (cos28)y +2z=0
has a non-trivial solution, then the number hl Teh AT B %, qr e [0, =] k| ‘T@ﬁ
of values of ¢ lying in the interval [0, ], IS 6 Al i SR
is :
(1) two 1
(2) three (2) dH
(3) more than three (3) dH 9 Afyges
(4) one (4) T
T/Page 16 SPACE FOR ROUGH WORK / T% & & T S
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56. For a positive integefn, if the mean of the | 56. T& 9AYU n o g, fgug (@ +b)2*—3 &
binomial coefficients in the expansion of TOR H TR AL 16 ¥, W n TWEK T :
(a+b)?"~3 is 16, then n is equal to :

® 5 1 5
@ 7 2 7 i
@ 9 | (B) 9
(4) 4 | (4) 4
57. The negation of A—(Av~B) is : 57. A—(Av~B) @1 fuy :
(1) a tautology @ (1) T el Tl
(2) equivalent to (Av~B)—A (2) (Av~B)—A ¥ THTH T
(3) equivalent to A—(AA~B) (3) A—(AA~B) % GHG T
(4) a fallacy (4) TH Fa+ g

58. The foci of a hyperbola coincide with the | 58. T& Afdwadd i 9l T&  <rEgq

%2 y2 2y - o ,
foci of the ellipse > + - If the 55 + —9— =1 = Al & I 51 af]
eccentricity of the hyperbola is 2, then the Afqaerd &1 3chgal 2 8, a1 39 Ifqudger™
equation of the tangent to this hyperbola i 155 (4, 6) T TSR ST T=1 W@ ol GHIE!
passing through the point (4, 6) is : T azs b= 3
—_ =) » F— )Y = = 6/
(1) 3x-2y=0 (1) 3x—-2y=0 ezf|- S
it
(2) 2x-3y+10=0 (2) 2x-3y+10=0 Zr@
() x-2y+8=0 3) x—2y+8=0 €M
- A% N,
(4) 2x-y-2=0 4) 2x-y-2=0 —. Sa £
a b
T/Page 17 SPACE FOR ROUGH WORK / 1% &4 o g s 2 .16) WA, =3Y-Y, =

—4-N—|'Y7
444

T 1 Q’E/‘Z‘ A\ %,L ﬁ““‘? . 4% -\1eN =
—r = "/\“'lb) \-‘,0
__Fr £l - _ .354,;&7/ a= Cif .L// — 4_1 - é__\_’_.?) =
- : y, wr O~ a 4
= ! w2, b = = ax-lev=i

‘ 7 R an-oN=1
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59.

60.

61.

From a point A with position vector

A A

P(/l\ + 7 + k), AB and AC are drawn

e A A A
perpendicular to the lines r =k + /\(i + j )

==, A A A
and r =—k + /,L(i - ]) respectively.
A value of p is equal to :
1 -1
@ ¥
3 2
4 -2
If for a matrix A, |A|=6 and
1 -2 4
adjA=|4 1 1|, thenkisequalto:
-1 k 0
1 o 1(-K)=4(-+)-1(-2-¥
@ 1 Ktk =3¢
@G 2 S olsWs 2.
4) -1 w=2
A box contains 5 black and 4 white balls.

A ball is drawn at random and its colour
is noted. The ball is then put back in the
box along with two additional balls of its
opposite colour. If a ball is drawn again
from the box, then the probability that the

ball drawn now is black, is :

5 S©
S Tl
53
2 359
, 48
G 59
7
@ 7

50. foig A o fefr wrem p(T 4§+ 1) B

A AB A AC T Yl 7 =k +a(7+7)
- A . ,
a7 =k +uli =) % e

T &1 p & TH TH TR T

1 -1
@ 2
3B) 2

@ -2

60, afg sesge A & fau, |A|=6 quw

1 -2 4
adjA=|4 1 1|8 TkTRE:
-1 k 0
1 o
@ 1
"B 2
4 -1

Teh 5 H 5 el 91 4 Ghe e €1 399 9
IS T TG Tl T8 T4 SHRT T Al
fovar T 39 AT o, 399 fowda o 2

Afefer S 6 e o | =iy erer e
T S AfE S H | e T e T, @
Sqeh il TT T il FIFTHA € :
5
O 37
53
2 39
48
G 5
7
@ 17
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62.

63.

64.

n n 3
IfZ—Cﬁl—-— =%,thennis
iZI\"C; +"C; 4 13

equal to :
1) 11
2 12
(3) 13

4) 10

A code word of length 4 consists of two
distinct consonants in the English alphabet
followed by two digits from 1 to 9, with
repetition allowed in digits. If the number
of code words so formed ending with an

even digit is 432 k, then k is equal to :

1 5
2) 49
3) 35
4 7

chli)r_} (@=x)+[x —1]+[1 - x]), where

[x] denotes the greatest integer less than
or equal to x :

( x_)+\\-—1)
(1) isequalto0 (1) + (1~
(2) isequaltol 2 -2

(3) does not exist

(4) 1isequalto —1

62.

63.

n n 3
afe Z{#J = 30 % A e
U R e 6 13

1) 11

2) 12

3) 13

4) 10

TS 4 T T Foek H ST TG &
i T FF IR 19 aF H A T
e & 979 g & wekdt €1 9 36 TR
T Fevs 5T o ofF ¥ 8, F: "em
432k € Ak TR T

1 5
@) 49
3) 35

@4 7

lim (1= x) +[x = 1]+ [1- x), ST [],

x % I 1 3G FH ey quiis i ffde
AT T

(1) 0% TR T
2) 1% TR ETI
3) o e T T

4) —1%F SR I

T/Page 19
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= —
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65. The value of cot Z cot™ ! |1+ > 2p 65. cot| . cot™1 |1+ > 2p HHAE :
n=1 p=1 n=1 p=1
is :
y 2 y &
1) 79 S T
2 B 2 }‘2
@ 5 @ 5
3 2 3 —
6 1o ®) 1o
4 o 4 =
@ 55 @ %

66. The abscissa of a point, tangent at which | 66. 38 fag %1 9, TS/ W ok y=e* sinx,
to the curve y=e¢* sinx, xe[0, 7], has @ xe[0, 7] 1 T TG & BT Afehaq %, ¥
maximum slope, is :

¢ )(9"7)71, + el ol =y

M % Q/%[ 51+ Gnyee O %

T xL Ay, s
@ 3 /2 @ 3
¢ = G 7
4 0 4 0

67. The integral .[ ]dx ([t] denotes the | 67. HHIHA J 1das (et [f], tEHHAT £+

greatest mteger less than or equal to f) is @ ENER T{%T'W quiish ol i s ¥) IR

equal to : g
1) 5-243 1) 5-243
@ 5-v2-43 2 5-v2-43
() 6-v2-3 () 6-v2-3
4 3-2 4 3-2
T/Page 20 o SPACE FOR ROUGH WORK /wm%mm
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68. Two vertices of a triangle are (3, —2) and | 68. ¥fg TsH By« % WY (3, —2) qe (=2,3)
(=2, 3), and its orthocentre is (-6, 1). g T THH FAhg (—6, 1) &, A S H
Then the third vertex of this triangle can e v 59 e w feod 7@ 81 9ot 98
NOT lie on the line : g
(1) 4x+y=2 (1) 4x+y=2
(2) S5x+y=2 (2) S5x+y=2
(B) 3x+y=3 (3) 3x+y=3
(4) 6x+y=0 4) 6x+y=0
69. Let p(x) be a real polynomial of degree 4 | 69. HMFIp(x), ®d 4 1 T IRATIH IgIT & foraeh
having extreme values at x=1 and x=2. TH WA x=1d9T x=2 W g1 3
If lim o 1, then p(4) is equal to : lim P(¥) _ 1% @ p(d) TR T :
x—0 x2 x—0 x2
1) 16 1) 16
(2) 32 2) 32
() 64 (3) 64
4) 8 4) 8
70. The plane through the intersection of the | 70. A&l x+y+z=1 AU 2x+3y—z+4=0
planes x+y+z=1 and 2x+3y—z+4=0 @ % gfaessd ¥ g S A 9had, S
and parallel to y-axis, also passes through J y-3181 & TR &, fom foig @ off o B, 5%
the point : g:
(1) @G,0,1) 1 30,1
2 (=301 (2) (=301
3) 3,0, ~1) 3) 13,0, =1)
4 (=30 -1) 4 (=30 -1
. T/Page 21 SPACE FOR ROUGH WORK / 1% &1 & foT swrg ,
1 i s <D
\ WANT 27+ d (2x+3Y -2 +4)=o R ,
| e (172)) 2 + (1430) Y+ (1=a)z~1 44 ) =0 ¢ ="
\ ’ . 4—Z " 4_ . _ ~Q =0



71. A line passing through the point P(1, 2) | 71. sig P(1,2) § Bt ST el W, Wil x +y =7
meets the line x +y=7 at the distance of 1 P ¥ 3 THE & g0 W e g1 1 39 @
3 units from P. Then the slope of this line #TWWWW@WW%, T :

satisfies the equation :

1) 7x2-18x+7=0 1) 7x2-18x+7=0
1)

) x2-39x+16=0 (2) 16x2-39x+16=0
(3) 7x*>—6x—-7=0 (3) 7x*>—6x—7=0
(4) 8x2—-9x+1=0 (4) 8x2—9x+1=0

72. Leta, b, ¢, d and e be distinct positive | 72. HFI a, b, ¢, d 92 e T4 &H e €1 afe

numbers. If a, b, c and 1, _3;, 1 poth are a, b, c 44 1, %, 4 T TEIR 9E | € ae
c e c e
in A.P.and b, ¢, d are in G.P. then : b, c,d!!UilﬁI Qﬁﬁﬁ%‘,?‘ﬁ :
(1) a,b,earein G.P. (1) a, b, e TOIRR 98 H €|
| (2) 4, b,earein A.P. (2) 4, b,eTHRK 9E H ¥
|
l
(3) a,c earein AP. (3) a,c, e TR I H ¥ |
(4) a,c earein G.P. (4) a,c e 7O 4G H g
T/Page 22 SPACE FOR ROUGH WORK / T% &1 & fog s
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73. If the line x=a bisects the area under the | 73. afg ¥@1 x=a, 9% y=i2,15xs9 ED
—_— X
Curve}/=i2/1$xﬁ91then’a’isequal = % TR 1 GHGHSH e, @ e
X
to: ENCIS
y 2 o2
M < M <
2 2 n 2
@ 3 ® 3
3 o 3 2
@ ° G -
5 = 5 X
@ 3 @ 3
74. Let S={zeC:z(izy —1) =2, +1,|z[<1}. | 74. AT S={zeC:z(iz; —1) = z1 +1, |51[<1}
Then, for all z € S, which one of the %,H}H’ﬁzeS%mﬁﬁﬁ@'ﬁqm@
following is always true ? T T T 7 '
(1) Rez+Imz<0 (1) Rez+Imz<0
(2) Rez<0 (2) Rez<0
(3) Rez—=Imz>-1 3) Rez=Imz>=1
(4) Rez-Imz<0 4) Rez-Imz<0
T/Page 23 SPACE FOR ROUGH WORK / 1% & & fo srte



75. If fis a function of real variable x satisfying | 75. dfq f T o&ifash =) x 1 HeH T fw
fx+4)—f(x+2)+f(x)=0, then fis a fx+4)—f(x+2)+f(x)=0 T TR H@l %,
periodic function with period : @ f T STl e § FoEeR STed - ©
(1 8 (1 8
(2) 10 2) 10
@) 12 (3) 12
4) 6 4) 6

/ .

76. For all values of 4 e (o, %) 76. 0 € Lo, %j & gt 7l & fore sege

the determinant of the matrix 2 tarif+secd 3
-2 tanf+sec’d 3 1 —sind cosf sind
—sinf cosf sind =3 —4 3
-3 —4 3 o1 TR ghen Y 3faver | feua §, 98 ©

always lies in the interval :
1 BB 5] @ B3]
(2) 4 6) 2 @496

%) %)

2" 4 ® 2%

53 53

(4) 27 4 4) 2" 4
sinx cosx sinx +cosx +1 sinx cosx sinx+cosx +1
77. It y(x)=|23 17 13 ;| 77. Ak y(x)=| 23 17 13 ,
1 1 1 1 1 1
2 2
xeR,thend_}_/+yisequalto: xeR%,?ﬁd—y+yW%:
x> - dx?
(1} 4 1 4
2y =10 (2) =10
G 0 @) 0
4) 6 4) o6
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78.

i 8

The number of integral values of m for
which the equation,

(1+m?) x2—2(1+3m)x+ (1+8m)=0, has
no real root, is :

1 2
2 3
(3) infinitely many

4 1

For all d, 0<d<1, which one of the following
points is the reflection of the point
(d, 2d, 3d) in the plane passing through
the points (1, 0, 0), (0, 1, 0) and (0, 0, 1) ?

1 1 )
— —43d,2d, —+d
(1) [ 3 3 /'

(3d, 2d, d)

78.

79.

m % 31 qUHTE AE h1 g, e
fera TRt

(1+m2) x2=2(1+3m)x+ (1+8m) =
g Ao e T B, T :

0 =T

[t d, 0<d<1 & fau, fr=1 & & =F w1 folg,

&g (d, 2d, 3d) = 633 (1, 0, 0), (0, 1, 0)
JA1(0, 0, 1) | KL STH aTel FHIA H Ffdfaa
g2

(1 1
(1) (— 5 +3d,2, - +dj

() (2) (3d, 2d, d)
(1 vd, 2 _0q -1y d) (1+d Z—Zd—1+d)
) 3 g T8 @ |3t%3 %
2 2 2 2 2 2
— 34 = 94 = g =B, S -2, =~
@) (3 3 3 ) 4) (3 3 3 )
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80. If the function f: [1, ® [= [1, © [is | 80. &fg WM f:[1, © [ [1, © [ T8 THR
defined by f(x)=3*®~1); then f~1(x) is : ftnfud § fF f(r)=3*C-D & d () 7 :
(1) H(1-T+aTogax) (1) (1~ JT+¥log3x)
@ 1+ T+ 4Togsx) @ 1+ T+¥log:x)
(3) not defined (3) ufenfya TE € |
" (%)x(x—l) " (%)x(x—'l) \ 
-000- -000-

SPACE FOR ROUGH WORK / 1% & & feu sng
2 (A~ )

N2
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Read the following instructions carefully : Frefefae feor earT & ug' :

1. Part I (Aptitude Test) has 50 objective type questions

consisting of FOUR (4) marks for each correct response.

Part T has 30 objective type questions of Mathematics

consisting of FOUR (4) marks each for each correct

response. Part III consists of 2 questions carrying 70

marks which are to be attempted on a separate Drawing

Sheet which is also placed inside this Test Booklet.

Marks allotted to each question are written against

each question. For each incorrect response in Part I

and Part II, one~fourth (V4) of the total marks allotted to

the question would be deducted from the total score.

No deduction from the total score, however, will be

made if no response is indicated for an item in the Answer

Sheet.

Handle the Test Booklet, Answer Sheet and Drawing

Sheet with care, as under no circumstances (except for

discrepancy in Test Booklet Code and Answer Sheet

Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in one page (page 27) at the end of the
booklet.

4. Each candidate must show on demand his/her Admit

Card to the Invigilator.

No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her

seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Aptitude Test and Mathematics-Part I
& Il and Drawing Sheet of Aptitude Test-PartIII to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their Ieft
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Aptitude Test and Mathematics - Part I & 11

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) are not
allowed.

12

ul

8. The candidates are governed by all Rules and
Regulations of the JAB/Board with regard to their
conduict in the Examination Hall. All cases of unfair
means will be dealt with as per the Rules and
Regulations of the JAB/Board.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances. ’

10. The candidates will write the Test Booklet Number as

" given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
room/ hall.

1. gfes & w1 (st wleon) & 50 agfE T €
i geeh Tl SR & foiu =) (4) o7 &1 wmr i A
Tfor o 30 SR U9 § 98 g U % 9E IWH
o = (4) =i fwifa 3 7 €1 gfae & wmrm d
2997 & 5k o 70 ofa freifta €1 = wea ot odan
qfee & X Tl 31ET e W HH T 1 9 9 =g
fruifia i 997 % orgE oifa €1 iR o ®
Y TeTd IV o fore 39w % ferg i g ot
T4 gam-warg (Ya) st 5@ am § § e forg smid |
afe ST 7= B fordl v 1 HIE SIS e g, @
Fot A 9 HE e T w1 A |

2. Ttern Yfden, 3T U TH TET e & EHEIES TA
w1, i fwdt of uRftafs 9 (e wlen giae @@
T A F e T i @ feafa @ Srewt) qEd vl
et SUeTsd el Ul ST |

3. wdenfeEl # 3w T W HE ot W F A1 faas o M
A i STET el § 1 Gl o U ferarg @ s, adar
gftaer ¥ fAuifta sme s i ‘TF = & fog e’ g
FmifeRd &, W& foran SRR | T TS Yk U WA
AR e iRt % 3fd § Uek I8 (Y8 27) W E

4. T 9 W g qdenei frles B ST g we
feand |

5. referer a1 Fderss o1 ooy srmfa & famm = wenef
YT T 7 BE |

6. TXieT TETE B9 U, wiemef fAtterl &1 oW
arfirsta wderor - ot 1 Ud IfoTA - T 10 SR SR 99 T
rferefe qEieTor- 9 111 1 STET ¥ie < oi Sufefd o=
T 2T RN SR A % TYEN € Tan T e |
THT A T T I8 THET ST oh SR 0 U6 giEN i &1
wrer T E 518 srfad @ et st Soft § 9 S |
el 31O AT T o SRS o o suftefa u g
fau T v we rava A qenfy, qdanel St
srferefe Titeror ue T - ST 1 TS 11 It et
AT HFA |

7. Selaiieh /eXaHterd Yiehais a1 SIET YR (9 f%
Thel, ST 3CAITS ) 1 TR AfSid © |

8. Tdven et ¥ =R & fau ydenet Su . /e & el
e fafadi grr fafog 21 sefed e v & g
e 1 HEE 91.0.9. /901 o e we fafremi o SEr
BT |

9, ferdt off feafs # wiien g, I 0= w& g e =
e off T A d1 37 T o SR 7 & Hier S
SreE fammet S|

10. TRI&T RETeRT, SO O TS SR wie | < IS adven gien
T 1 et ge adeh @ wfst uA H ot ford |

11, wdtegredt GRT U et/ et H WA WIS o Ierar
feredt wenTe aht urea Wi, wfaa ar gateted, s
i ufear, US, HeTsd Wi, Selaei-eh: STl A1
Tereit 277 WeRTT ohl TTHUT SRl o ST AT ST e @bt
ERLILE RS
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